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G.C.A.2: Chords, Secants and Tangents 12

1 In the accompanying diagram of circle O, the 3 In the accompanying diagram of circle O, the

measure of 72-5 is 64°.

measure of ZKLM is 38°. What i1s the number of

degrees in the measure of KM ?

L
A K
What is mZRTS?
1) 32
2) 64 M
3) 96
4) 128

In the accompanying diagram of circle O,
mABC = 150.

4 In the accompanying diagram, BA is a diameter and
mBC =50. Find m/CBA.

A
B C
What is mZABC?
1) 210
2) 105
3) 95 5 In the accompanying diagram of circle O,
4) 75 mABC =260. What is m£4BC?

N
<

C
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6 The new corporate logo created by the design
engineers at Magic Motors is shown in the
accompanying diagram.

If chords BA and BC are congruent and
mBC = 140, what is m/B?

1) 40
2) 80
3) 140
4) 280

7 The NUK Energy Company is designing a new
logo, as shown in the accompanying diagram, with

mNK = 130 and mNK = mNU ..

What is the measure of ZKNU?

1) 50°
2) 65°
3) 80°

4)  100°

8 In the accompanying diagram of circle O,

m/ABC = 2x and mAC = x +60. Find the value of
X.

9 In the accompanying diagram, A ABC is inscribed
in circle O and AB is a diameter.

What is the number of degrees in mZC?

1) 30
2) 45
3) 60
4) 90
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10 In the accompanying diagram, isosceles triangle 12 In the accompanying diagram of circle O, AB and
ABC is inscribed in circle O with diameter 4OB. BC are chords and mZAOC = 96. What is
Find mZCAB. mZABC?

C A
C
A B
O o)
B
1) 32

11 In the diagram below, circle O has mZ/4ABC =z. 2) 48

What is mZAOC? 3) 96
4) 192

13 In the accompanying diagram of circle O,

g mZAO0C = 108.
) [#]
A
1) z
2) 2z
3) %z B
4) z*
C

What is m£ABC?

1) 27

2) 54

3) 108

4) 216
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14

15

In the accompanying diagram of circle O,
mZACB = 38.

A

P
N

C

What is mZ£40OB?
1) 19
2) 38
3) 52
4) 176

In the accompanying diagram of circle O, the
measure of ZABC is 42°. What is the total number
of degrees in the measure of LZ4OC?

B

16 In the accompanying figure of circle O,

mZAOC = 52. Find mZABC.

C

17

18

19

An angle inscribed in a circle measures 80 degrees.
What is the number of degrees in the intercepted
arc?

In a circle, an inscribed angle intercepts an arc
whose measure is (14x —2)°. Express, in terms of
x, the number of degrees in the measure of the
inscribed angle.

In the accompanying diagram of circle O, AD and
BC are diameters. Which statement is not true?

A
2,

1) AB=CD
2 L=22
3) OA=0OD

4) m/1=mBD
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